Upplands BF
IAF fran DM-lagfinal Rond 6:2

IMP o6ver faltet, 8 bord, 16 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 2 2.39 Lars Olsson - Rolf Nyman 2795 2588
2 301 2.17 Christer Enkvist - Ernst van Groningen 13719 13582
3 4 1.25 K-G Wanngard - Mattias Jonsson 6634 22897
4 302 0.96 Arne Lindgvist - Rolf Staflund 2598 9211
5 304 0.61 Hakan Lindh - Peter Svensson 6055 802
6 3 0.36 Tom Gérds - Nils Anlén 13002 1169
7 303 0.26 Jonas Petersson - Tommy Bergdahl 2059 2181
8 1 0.00 Carl Engholm - Marcus Hjelte 9773 84282
8 201 0.00 Anders Blomé - UIf Nohrén 13107 2798
10 103 -0.26 Anders Blomqvist - lvar Holmquist 2823 2932
11 203 -0.36 Mats Johansson - Joakim Moller 15014 33431
12 104 -0.61 Hans Kvick - Bjorn Alenfalk 2878 2828
13 102 -0.96 Robert Larsson - Linnea Edlund 15346 34773
14 204 -1.25 Johan Safsten - Per-Erik Malmstrom 35452 23472
15 101 -2.17 Kjell Hedman - Jenny Evelius-Nohrén 2832 2812
16 202 -2.39 Joakim Nordlindh - Tommy Andersson 35307 14659
13 4632 14 4 D1052 15 4 K92
Nord v KKn8 Ost v DKn5 Syd v 86
Alla ¢ EKDKn Ingen ¢ K973 NS + D643
#D86 «D3 #9842
497 4 E85 & Kn3 &K 410653 «D8
v109752 v4 v K106 v E842 v 953 v KKn1042
4643 41098752 +5 + EDKn82 ¢E972 ¢ K108
#954 #K32 #EKKN10876 #954 *K5 #ED10
« KDKn104 4« E98764 4 EKn74
vED63 v973 v ED7
.- + 1064 ¢ Kn5
#EKn107 *2 #Kn763
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 202 6NN= ¢T 1440 0.0 0.0 1 201 3NV-2 &5 100 68.0 -68.0 104 304 2#4DS= v3 180 53.0 -53.0
1 201 64 S= «7 1430 0.0 0.0 2 202 64V-1 42 50 59.0 -59.0 2 202 1vy O+1 43 -110 -1.0 1.0
3 203 64 S= ¢3 1430 0.0 0.0 3 203 54 V= 45 -400 -17.0 17.0 4 204 INO+1 &2 -120 -2.0 2.0
4 204 64 S= &3 1430 0.0 0.0]|101 301 5# V= a5 -400 -17.0 17.0|101 301 INV+1 &4 -120 20 2.0
101 301 64 S= vT 1430 0.0 0.0[102 302 54 O= 4Q -400 -17.0 17.0|103 303 INO+1 %6 -120 -20 2.0
102 302 64 N= ¢9 1430 0.0 0.0 4 204 54V +1 &5 -420 -23.0 23.0 3 203 2¢v O+1 &6 -140 -9.0 9.0
103 303 64 S= ¢3 1430 0.0 0.0|104 304 4v V= a5 -420 -23.0 23.0 1 201 3vV+1 ¢J -170 -16.0 16.0
104 304 64 S= 49 1430 0.0 0.0|103 303 4v V+1 &K -450 -30.0 30.0|102 302 INS-2 5 -200 -21.0 21.0
16 4Kn764 17 4« DKn8 18 4985
Vast vE95 Nord v Kn52 Ost vKn
oV ¢ 543 Ingen ¢ Kn105 NS ¢ KKn53
#E109 #8762 2K9652
482 «ED5 4 E10 4 K762 4 K103 4 ED4
v K104 v DKn732 v EK8 v 1093 vK8 v E97532
¢+ EK9862 ¢ 10 ¢ D98 + EK64 + D8 4976
»82 #KKn63 #KDKn94 &E5 #EDKn873 #10
4 K1093 49543 4 Kn762
v 86 vD764 vD1064
¢ DKn7 732 + E1042
D754 #103 &4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3203 4v0-1 +Q 100 35.0 -35.0 1201 640+1 ¢J -940 32.0 -32.0 2 202 49v O-2 42 100 8.0 -8.0
4 204 49y O-1 +Q 100 35.0 -35.0 2 202 6NO+1 &5 -1020 18.0 -18.0(102 302 4v O-2 46 100 8.0 -8.0
101 301 3NO-1 49 100 35.0 -35.0 4 204 6NO+1 &T -1020 18.0 -18.0(103 303 3NV-2 42 100 8.0 -8.0
104 304 4v O-1 &5 100 35.0 -35.0(101 301 6NO+1 v6 -1020 18.0 -18.0(104 304 4v O-2 43 100 8.0 -8.0
2 202 2¢ V+1 a7 -110 20 -2.0|102 302 6NO+1 &T -1020 18.0 -18.0 1201 4v O-1 4 50 -8.0 8.0
103 303 2NO= 8 -120 -20 2.0|103 303 6NO+1 42 -1020 18.0 -18.0 3 203 4v O-1 46 50 -8.0 8.0
1201 4v0= +¢Q -620 -70.0 70.0 (104 304 74V = ¢5 -1440 -54.0 54.0 4 204 49 O-1 46 50 -8.0 8.0
102 302 4v O= 49 -620 -70.0 70.0 3203 7NO= 2 -1520 -68.0 68.0(101 301 4v V-1 &5 50 -8.0 8.0
19 K984 20 4 Kn643 21 4942
Syd v97 Vast vKn107 Nord vK2
(6)) ¢+ EKn4 Alla ¢ D432 NS + KD98
#ED103 294 #10973
4EDKn 476 4 EK975 4D8 4105 4 Kn73
v 853 v EKn2 v 52 v 9643 vE10954 ¢76
+ 862 + KD9753 +8765 ¢K ¢ EKn732 ¢ 1064
#Kn872 &K6 #Kn2 #ED10653 «D #EKKn54
410532 102 « EKD86
vKD1064 v EKD8 v DKn83
+10 + EKn109 +5
#954 K87 #862
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 203 3NO-2 vK 200 32.0 -32.0 2 202 INDS+3 45 780 70.0 -70.0 (102 302 4¢DV-2 42 300 47.0 -47.0
104 304 2v N+1 K 140 19.0 -19.0|103 303 3¢DN= v2 670 58.0 -58.0 1201 440-3 «A 150 21.0 -21.0
1201 2»N= ¢K 110 13.0 -13.0 4 204 3NS= «J 600 47.0 -47.0 3 203 3¢DV-1 42 100 10.0 -10.0
2 202 3NV-1 44 100 11.0 -11.0|102 302 INS+2 47 150 -19.0 19.0 4 204 4¢ V-2 «K 100 10.0 -10.0
101 301 3¢ O-1 vK 100 11.0 -11.0 1201 3¢ N+1 «Q 130 -22.0 22.0|103 303 3v V-1 42 50 -1.0 1.0
102 302 INN-2 ¢K -100 -28.0 28.0 3 203 3¢ N+1 «Q 130 -22.0 22.0 2 202 34 S-1 YA -100 -29.0 29.0
4 204 2¢ O+1 &5 -110 -29.0 29.0(101 301 24 O= vA -90 -56.0 56.0|101 301 24 N-1 &#Q -100 -29.0 29.0
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103 303 3¢ O= v9 -110 -29.0 29.0(104 304 2& O = vQ -90 -56.0 56.0 (104 304 34 S-1 #Q -100 -29.0 29.0
22 & EKKn942 23 « 874 24 « K876
Ost v8 Syd vD7532 Vast v3
oV + ED103 Alla 498 Ingen ¢ K1053
43 &743 &#DKn43
4875 «103 49532 & EKDKn6 D954 &Knl0
vKn9432 vE6 vEKn84 v1096 vEKn86 v10742
*2 + Kn87654 ¢ 753 + D2 ¢+ DKn6 #9742
&#E862 &Kn75 K10 #652 &E5 #986
«D6 «10 & E32
vKD1075 vK v KD95
+ K9 + EKKn1064 +E8
&KD109 &#EDKN98 &K1072
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
104 304 44 N+2 vA 480 17.0 -17.0 2 202 4% S= a3 130 28.0 -28.0 3 203 2¢DO-3 vK 500 39.0 -39.0
3 203 3NS+2 48 460 10.0 -10.0 3 203 3#S+1 3 130 28.0 -28.0 2 202 44 N= v5 420 25.0 -25.0
102 302 3NS+2 &7 460 10.0 -10.0 4 204 4¢ S= a3 130 28.0 -28.0 4 204 3NS= v6 400 19.0 -19.0
1 201 54 N= &7 450 10.0 -10.0 1 201 44 O-1 +A 100 20.0 -20.0 {102 302 3NS= +Q 400 19.0 -19.0
2 202 44 N+1 vA 450 10.0 -10.0 104 304 5#S-1 43 -100 -20.0 20.0 (104 304 2¢vyDV-2 3 300 -1.0 1.0
4 204 54 N= &5 450 10.0 -10.0 101 301 34 O = *A -140 -28.0 28.0(103 303 2N S+2 &2 180 -24.0 24.0
103 303 44 N+1 2 450 10.0 -10.0 102 302 34 O = ¢A -140 -28.0 28.0(101 301 24 N+1 &J 140 -29.0 29.0
101 301 64 N-2 ¢4 -100 -77.0 77.0(103 303 34 O= *A -140 -28.0 28.0 1 201 INV-1 ¢5 50 -48.0 48.0
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